000000 stdononongn 20130 50 130

goooo O

b1

gboboboogoobbobobbboooobbbuooobooobbboooobobooonbobon
gboobooogn

gbbbogdgbbboodgbbbybboobobbboooobbooogbboooobn
b0 0000M000000M

Oooobov/mobobobo0mUb0b0xyOO0OODLOOOOOOO

(1-1) 0000000y00000060000(0000)0
00000000 (2,y)0 /0000000

(1-2) D00000000000000% ¢06,6000000
(1-3) DODOO0O0OD ¢, 00000 TOODOOODOOOOOODOOODOO
(1-4) OODOO0DODOOO0DTOOOOOOO (1-2)U00O0D0O0O0ODAOODOOODODOODODOOD

(1-5) O0DO00O0O0O0O0D0D00O0O0OO0ODOD0O0000O000ODOOO0OO00D0D0O0OO0ODOO0O0O0OO
gbooodo

oo 2

t000x000000000000000000 2(0)=0,20)=00000000000
goog

(2-1) & =4z

(2-2) i = —4z
(2-3) i = —4i — 3z
(2-4) i = —6i — 9

(2-5) i = —4i — 5z



